X7 17"7 '0I10 X,7% Ui 702

It wasn’t but a few days — TV 2 177 RY

OVERVIEW

The X773 relates a story of a person who deposited a 71°7 by a woman, who in turn
placed it in her flour jug, and mistakenly baked it in a loaf of bread. When the
7Pon returned to claim his 71°7 she swore that one of her children should be
poisoned if she derived any benefit from the 71°7. Shortly one of her children died.
mooIn discusses why was she punished since she thought she was swearing
truthfully.

mooIn asks:
— YOIYIN NNAYL INMDI 9NN ON)

And if you will say; and why was she punished; it was a mistaken oath -
- DNNY VY9 NPV DTN (899 97 TIMIAVT /) P92 1IN KD

For the Xn»12 states in the third pap of nwiaw noon; the 70D states IYIAWa QTN

(the person in an oath), this excludes a forced false oath; the X3 there gives an

example of 01X -
— 29 99N 2N YanwN 999 29 9N 22N YaNWN 999 YON 29 N)NId 1970

Like X172 29 and “oR 29, where one would swear, ‘this is what 29 said’, and the

other would swear, ‘this is what 29 said’; they would argue what 21 taught -
— ByanwIN NYPWA NINY TR 159 9N 11199359 TN 1IN) 297 13999 1NN 39

And when they came before 21 to settle their dispute and 29 said like one of

them, so the other said to 27, ‘and so did I swear falsely’?!
— 7038 729 NN 199 9N

And 29 answered him, ‘you did not swear falsely, your heart forced you to swear
this way, because you were certain that this is what I said.

mMooIN anticipates a possible answer, and rejects it:
— NN WY DAN 13971 091D XIN 0NN NP VYN NYT 919919D NI

And one cannot answer that the o2 there does not exclude an 01X completely,
but merely excludes him from the obligation to bring a j29p (since he was an

"' The 109 in 7,7 X7p states ¥7° XIM 11 09U 912w DTRT KW WK 9% 102 W Y772 2°N5Wa Kvab ¥awn * wol W
79%n nnRS awx). The kN3 derives from the words 7v1awa o7x7 that when he takes the oath he must be an o7, he
must be aware of what he is doing and doing it with full knowledge. This excludes one who was unaware that he is
swearing falsely from bringing the (771" 721¥) 727p for a Tpw ny1aw.
2 Would he be required to bring a 7272 when the "2 will be rebuilt.
? In this story as well the woman was an 7701X; she really thought that she derived no benefit from the 21°7.
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01IX), however there is still a punishment o»wi 12 for swearing falsely —

mooIn attempts to prove his point:
— *m8nn NN HVAY AW 533 (x,v 9m DI1YT /2 DI JNIYNTD

As we find in the second 95 of 23971 noon, regarding swearing to nullify a /3%
— Y589 7990909 1Y 12971 DPIVDIY 1N IR 591 Y SyaINIT
Where the X773 requires two 232109, one to exempt him from a 3399, and the

other to exempt him from transgressing a Y -
— NOR NIW IAUT WY SaN [(12991 D909 KD TH NN NP9 XIMI]

[And here where there is only one o5, this will exempt him from a 329p], but

there is the punishment for transgressing the W% of a X ny1aw. This would
seemingly explain why the woman was punished even though she was an 701X -

mooIN rejects this answer:
- 9‘1‘,7\’)5 NYAYI XD YIYN TOIN 725 NNT

For the answer of 27 to X"71 2" that "72i18 72%' indicates that you did not swear

falsely and not merely that you are not obligated to bring a 127p. The question remains why was
she punished since she was an 7101X.

moon strengthens his question:
— PNV MPIAYUN YON 29 N3N 297 N2 (3,05 91 0YIT1IT /) PI92T TV

And furthermore in the third p=ap of 29971 noon, the X7 there cites the

previously mentioned incident of K'Y 2''9 regarding nasw nyaw -
— PN NNV MMV 73 MIMMN manw 97w owa X993 NNt

For the X% there cites a 8n%"M2 which states, ‘just as M 971 are permitted

YA person swore (for instance) he will not eat in a 7310 on M>Y; the 7¥12w is ineffective and he has to eat in the 7210.
> The X3 there (beginning on 2,1v) brings two 2’109, one from 2,7 (N1un) 1272 which states 1127 1 X» from which
we derive Dw X517 X7 2 AR o X9 1127, and the previous pI0d from 7,7 X7p” which states 2°v°n% W yIa°,
indicating 17°2 MW PRY "1 M7 DR S0a% yawa R MW vIn AR MW7 20T 7.
6 "1 there 1 "7 explains that the P109 of ¥177% exempts him from a 1277 (for that mw1o\P1o» is discussing the 127
for a 7pw ny1aw) and 1127 S0 X exempts him from a X7,
7 The (X"w ) 2"w mn omit the bracketed insert. See ‘Appendix’.
¥ See n"m that X1 ny1aw here means PW NYIAw. A RIW NY1AW is a YW in vain, where for instance someone takes an
oath regarding something which is obvious to everyone; there is no need for an oath. A 7pw ny12w is where one
swears falsely, like here in the case of the woman; for she did derive some benefit from the 71°7 as the X713 states.
The interpretation here is based on the w"&77 Mo0N here and X 7"7 &,12 Myaw NwOIN (as explained by the n"m).
The X"wamn and 2"wnn have a different understanding of this oo, See ‘Appendix’ # 1.
? See ‘Appendix’ # 2.
% maaw 773 means that if a person says (for instance), ‘all fruit should be forbidden to me, if I ate anything
yesterday’. He thought when he made this 771 that he did not eat yesterday, but it turns out that he did eat. This is
N 171, and the 771 is not valid and he may eat fruit.
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S0 too are NI MY2W permitted -
— N9 UNY 1IN LMAmNT ¥aUNnT YON 29 XIND 2979 MY MY Y1)

And the X773 explains N nIaw to mean as the incident with R'=Y '3, so it
seems from that X7»2 that it is permitted and there is even no punishment —

mooIn responds to an anticipated difficulty:12
— NIV DAY UMY XIINT MISNN NN HVAY Yawsh T XD

And mxw Myvaw is not similar to Mmx» AR Yvab yaws, where there could be a

punishment for a X2 nyw -
— Pmpbnn 1 90955 1NN 1399 MY 09 TN NP 72 19 Sy annT

For there we need two 2°210p, one to exempt a A from a 3299 and the other

to exempt a 7°1» from nmpvn -
— 1297199 WHYN 1909 990D MY 909V

And when the 705 (of 2072 R ¥I1?) exempts a 3w (regarding DR 2022 yaw:

mxn), it exempted him entirely, both from w2 and from 329p -
— 991907 MVOT DINY VYD NYAWA DINN 23) PTH NI

And the same rule applies regarding the v1v>» of a¥12w2 2787 which exempts an

ouR that he is totally exempt even from w1W. The question remains, why was this
woman punished!

N1B0IN answers:
— 2050 Y9YY AN 10N 1Y 1IN PTPD 3 KINT Y Y

And one can say; that here by a deposit she should have been very careful to
guard it properly -
1YY Y RANY RAYIN SPIONY 1Y ¥ hym

And she should have been aware that she may come to take an oath for this
deposit. Therefore she was punished.

SUMMARY

" The xm3 compares N MW to MY *172. By niaxw ™71 the rule is Mm» meaning that the 271 is not effective
and he may do that which he prohibited upon himself. Similarly by myaw >371 it is m7m» in the sense that there
should be no consequences.
2 moo1n is assuming now that since it says 7512wa 07871 that should exempt an 01X (not only from a 1277 but) even
from wny. However regarding mxni nR 5027 yaw: it seems that we require two 2°vWw» and if there would be only
one W1y it would exempt only from a 1299, but not from the w1y (for transgressing the 7). Therefore how can we
say here by 7¥12w2 07X that it exempts both from 1277 and w1w?! MO0 responds -
" The second 109 (of 5 X9) exempts one from Mpon if he swore T2 M¥nT DX vav; however for 3w only one
2109 is required to exempt him from 7277 [and W1y, as N9OIN concludes].
' The w"wA amends this to read 'mi7' (instead of 'mm"). In 2"mn it reads M.
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Generally a 011X by a 7y2w is Mo from wy; however here the woman is at fault
for not protecting the NP5 properly, realizing that she make come to take an
improper oath.

THINKING IT OVER

1. Initially mo0In inferred from the fact that two o°109 are required by 512> vaw:
mxn1 PR (one for 1297 and one for the X?), that by 01X (where there is only one
?109) he is Mwd from a J27p and 2171 an wWY. Subsequently Moon argues that it is
not so. What changed in n1901n understanding of this issue?

2. Was the woman punished because she did not guard the 217 properly, or
because she swore (falsely)?

APPENDIX

The "w1n (and R"w1n) are not 0713 the bracketed insert:> X7 77 X9R X3°97 X3
JaTPR TUDIRY.

1. The question of MooIN is that there (by M¥nn NR 5027 ¥yawi) there are two D°PI0D
that exempt him from 727 and mpYn, but nevertheless he is punished for a n¥aw
XW (he swore in vain) since his 712w is not effective. Similarly here too by 01X
even though he is J2721 7Wd, he should be 217 for XWw nyaw.'°

2. MOIN rejects this because 0IR 727 indicates that there was no pw nnaw. !’

3. At the end Mmoo explains why by v2% vawi there is R1w N¥12W w1 and by 01K
there is no XW N¥2w, because the X1 N¥1aw w1y is only by 71 and not by xw.'®

'3 See footnote # 7. The following footnotes present some of the difficulties with this interpretation of '01n.
'® The seeming difficulty with this is that by mu»i 02> yaws there is indeed a X nyaw (since he accomplished
nothing with his 7¥12w; however by 01X (for instance 31 X112 27, they swore for a purpose that 27 ruled this way.
This should not be considered a XYW n¥12w but rather a NWv1a Ay1W.
7 Seemingly if Mmoo question is that by 01X he should be 21 for X1 ny12w, then Moo should have said there is
no X1 N1 in this case (of X" 3").
'® It is also not clear why N0 mentions the two 2°109, when it would be sufficient to distinguish between 3w and
™I,

4

TosfosInEnglish.com



